
Vector problems


1. a) A river flows at 3 mph and a rower rows at 6 mph. What heading should the rower 
take to go straight across a river? 

b) Answer the same question if the river flows at 6 mph and the rower rows at 3 mph. 

2. Find a unit vector in the direction of �2, 3�. 

3. Use vectors to prove that the diagonals of a parallelogram bisect each other. 

4. Prove using vector methods that the midpoints of the sides of a space quadrilateral 
form a parallelogram 



MIT OpenCourseWare
http://ocw.mit.edu 

18.02SC Multivariable Calculus 
Fall 2010 

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms. 

http://ocw.mit.edu
http://ocw.mit.edu/terms

